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E-2] 1258 RT RAMP O 171+21.18-171+38.31 17 17
RD-2 1258 RT RAMP O 171+38.31 / /
£-27 1258 L7 RAMP O 171+35.65-171+39.48 17 17
RD-1 1258 L7 RAMP O 171+39.48 / /
£-23 1258 Ly RAMP O 171+39.48-173+86.88 245 245
RD-3 1258 L7 RAMP O 173+86.88 / / ’
E-24 1258 L7 RAMP O 173+86.88-176+36.04 247 247
RD-4 1258 L7 RAMP O 176+36.04 / / ’
£-25 1258 L7 RAMP O 176+36.04-177+66.23 125 125 >=
PB-1IR 1258 L7 RAMP O 177+66.23 E
£-26 1258 LT/CL |RAMP O/SR 2 177+66.23-477+75.67 103 E
E-27 125771258 L7 RAMP N 365+95.09-368+42.33 236 236 E
RC-15 1258 L7 RAMP N 368+42.33 / / - |
E-28 1258 L7 RAMFP N 368+42.33-370+70.76 230 230 (/p]
RC-16 1258 L7 RAMP N 370+70.76 / / o
£-29 1258 L7 RAMP N 370+70.76-372+76.93 210 210 C?)
PB-9K 1258 L7 RAMP N 372+76.93
£-30 1258 LT/RT RAMP N 372+76.93-372+76.93 45 0
PB-10R 1258 RT RAMP N 372+76.93 =
£-31 1258 RT RAMP N 372+76.93-373+26.82 5] 51 —
-
RC-17 1258 RT RAMP N 373+26.82 / / -4
E-32 1258 RT RAMFP N 373+26.82-376+20.04 295 295 (5
RC-18 1258 RT RAMP N 376+20.04 / / —
F-33 1258 L7 HAMP O 171+09.92 -
£-34 1258 L7 RAMP O 171+09.92-171+19.03 5] 5] 51
g R-1 1259 CL SR 7 481+89.56
[}
-
4 E-1 1259 CL SR 2 480+00.00-480+45.772 46
RD-7 1259 CL SR 2 480+45.77 / / 2z
= £-2 1259 CL SR 2 480+45.72-481+80.70 135
~1 HRD-8 1259 CL SR 2 481+80.70 / / 2
%‘ E-3 1259 CL SR 7 481+80.70-483+15.74 135
(@)
0 RD-9 1259 CL SR 2 483+15.74 / / Z
< £-4 1259 CL SR 2 483+15.74-484+50.77 135
Q é RD-10 1259 CL SR 2 484+50.77 / / Z
>~ £S5 1259 CL SR 2 484+50.77-485+86.14 136
RD-11 1259 CL SR 7 485+86.14 / / Z
-
? E-6 1259 CL SR 2 485+86.14-487+20.84 135
=) RD-I2 1259 CL SR 2 487+20.84 / / Z
% £-7 1259 CL SR 2 487+20.84-488+57.96 137
oy RD-13 1259 CL SR 2 488+57.96 / / Z &N
E} E£-8 1259 CL SR 2 488+57.96-489+91.27 134 0?
-

Q % RD-14 1259 CL SR 2 489+91.27 / / Z 0?
@ E-9 1259 CL SR 2 489+91.27-491+32.51 140 N
-~ RD-I5 1259 CL SR 7 491+32.51 / / 2 !
é E-10 1259 CL SR 2 491+32.51-492+50.00 118 . <
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